Pre-Calculus - Honors Lesson 18

Worksheet #18 Answers
1) f(x) = (x*+18x) - 7 2) f(x) = 3(x* - 4x) + 11
f(x) = (2 + 18x + 81) - 7 - 81 f(x) = 30 - 4x + 4) + 11 - 12
f(x) = (x + 9)° - 88 fO) = 3(x - 2 - 1
vertex: (-9, -88).a=1 vertex: (2, -1), a = 3
3) f(x) = 4(* + 14x) - 5 4) f(x)=20¢ - 3x) + 8
4 f(x) =20 -3x+9)+8-9
f(x) = 4(x* + 7x + 49) - 5 - 196 4 2
2 16 16 f(x) = 2(x - 3)*+ 16 - 9
f(x) = 4(x + 7)* - 80 - 196 2 2
2 16 16 f(x)=2(x-3)+7
f(x) = 4(x + 7)° - 276 2
4 16 vertex: (3/2, 7/2), a =2
vertex: (-7/4, -69/4), a = 4
5)5=a(0 - -3+ -2 f(x)=7(x+37°-2 f(x) = 7x* + 6x + B
5=9a-2 9 9 9
7 = %a f(x) = (7/9)C + 6x + 9) - 2
Z7=a f(x) = 7% + 6x + 63 - 18
9 9 9 9 9
6)-2=a(1 --1*+4 f(x)=-3(x+ 17 + 4 f(x) = -3x* -3x + 5
-2=z=4a+ 4 f(x) = -3(x*+ 2x + 1) + 4 2 2
-6 = 4a f(x)= -3x* -3x -3+ 4
-3=a f(x) = -3x* - 3x - 3+ 8
2 2 2
7)5=a(-2-0F+3 fO) = ¢ + 3
5=4a+3
2=4q
t=a
8)0=aqa(-1 --2+2 f(x)=-2(x+27+2 f(x) = -2x* - 8x - 6
O=a+2 f(x) = -2(x* + 4x + 4) + 2
-2=za f(x) = -2x* - 8x - 8 + 2

9) f(-4) = |4(-4) - 7] = |-16 - 7] = 23
f(-1) = |4-1)-7| = |-4-7]| = 11
fa)=141)-71=14-71=3
f(3)=3>-4=27-4:-23
f(6) = 6° - 4 =216 - 4 = 212



